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i (2a>+9)2a>+5)

19



(&t afefaa I3ma)
6 Mt TH YAS
1. fogg feg ware dhdt gAT=T TIATEHT IIEPHT IS | WSTE €T §439e8 M3 MTfe3s
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(i)  (10.2)
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fee fad
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25t
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3. fea g9 feu 5 fa3gt g fan feg g9a < Heret 20 findt w3 UF arara @bt mitet
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1.

2.

x(B3x+2)=3x"+2  (ATY/ABI)

12x+36=12(x+__) ur&t &t 931

fefAd 2xy+3+2y+3x ©7 QT AHIITS 3|

16x+4

o7 7<7Y ot g=ar|
(i) 4x+4 (ii) 16x+1 (iii) 16x+16 (iv) 4x+1
a’*+2ab+b* =( + ) 9= 3T yst g9H 39|
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1.

2.

SN =

I3 a’ —b* =(a+b)a—b) € =TI qI€ TI& 49p” —36 € J<&4F TG
feima 7x*y’ 2 & formd 14 xy; 58 ST J4|

10x* —18x° +14x* € ITHHT TG

7x*+14x & x+2 38 TF I3

(P’¢° -~ p°q’ )+ p'q’ & T& &3

4 Mt TH YAS
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€93 33T € =93 9de JIT TH IJ|
m*-256

T B AfeT I3 & I B f[T EHT Jeaus a5 e :

JdTBH A JdBH B
i) (a+b) = (a+b)(a—0b)
i) (a-b) = x* +(a+b)x+ab
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i) a’-b*= a’+2ab+b’
iv) (x+a)(x+b)= a’—2ab+b*
ABHT & J5 ey feima & a9 fen 397 o5 137
(a—4)(a—2)=axa—4x2
=a’-8
T AeHT T 319 At 97 A9 &4t 3T At €91 7% 9
x'=(y+2z)' € ITaET T
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